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1. Paper 2 has two parts: Part I & Part II 
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2. Each section carries 50 objectives type of questions. 
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4. For each correct answer, 1 mark will be granted and 0.5 mark will be deducted for 
every wrong answer. 

 
p``%yaok sahI ]%tr ko ilae 1 AMk inaQa-airt hO AaOr p``%yaok galat ]%tr donao pr 0.5 AMk kaT ilayaa jaaegaa. 

 
5. If a candidate gives more than one answer, it will be treated as a wrong answer and 

0.5  mark will be deducted. There will be no penalty for questions left unanswered. 

yaid AByaaqaI- ek p``Sna ka ]%tr ek sao jyaada baar dota ho tao vah galat ]%tr maanaa jaaegaa AaOr ]saka      
0.5 AMk kaT ilayaa jaaegaa.CaoD,o hue p``SnaaoM ko ilayao kao[- AMk nahI kaTa jaayaogaa. 

6. Candidates should not mark in the question paper. They can use blank pages provided 
in the question paper for rough work. 
 

AByaaqaI- p``Sna p~ maoM iksaI trh ka maak- naa lagaae. rf kaya- ko ilae p``Sna p~ ko saaqa saMlagna KalaI pRYz ka 

]pyaaoga kro. 

 
7. To be eligible to qualify, a candidate must obtain minimum 40% marks each in Section  

I & II separately and a minimum of 50% aggregate in total. 

AByaaqaI-- kI ]%tINa- hInao ko ilae Baaga 1 AaOr Baaga 2 maoM p``%yaok maoM kma 40% AMk laanaa Ainavaaya- hO AaOr kula 
AMk ka nyaunatma 50% haonaa Ainavaaya- hO. 

 
PART – I 

 
GENERAL KNOWLEDGE 

  
 
Q1. Kangchenjunga is the highest mountain peak in India. It is situated on the border 
between  

daputaxk Hkkjr dh lcls Å¡ph pksVh gSA ;s fdu nks ns'kksa dh lhek ij fLFkr gS 
 
       (a) India and Pakistan                   (b) India and China 
  Hkkjr vkSj ikfdLrku    Hkkjr vkSj phu 
 

       (c) India and Nepal                      (d)   India and Bhutan 
  Hkkjr vkSj usiky     Hkkjr vkSj HkwVku 
 
Q2. Who was the first and the last woman ruler of Delhi 

fnYyh dh igyh vFkok vk[kjh jkuh dkSu Fkh 
 

(a) Chand Bibi    (b) Noor Jahan 
pk¡n chch      uwj tgk¡  
 

(c) Razia Sultan     (d) Mumtaz Mahal 
  jft;k lqYrku     eqerkt egy 
  

Q3. The standard meridian of India is  
Hkkjr dh LVSaMMZ ns'kkUrj js[kk D;k gS 

 
 (a) 82 degrees 30’ E                             (b) 84 degrees 30’ E 
  82 fMxzh 30* iwoZ     84 fMxzh 30* iwoZ 
 

 (c) 72 degrees 30’ E   (d) 92 degrees 30’ E 
  72 fMxzh 30* iwoZ     92 fMxzh 30* iwoZ 
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Q4. The lowest layer of earth’s atmosphere is 
ok;qeaMy dh lcls uhps okyh ijr D;k gksrh gS 

 
            (a) Troposphere               (b) Exosphere 
  VªksiksLQs;j     ,sXtksLQs;j 
 

(c) Mesosphere               (d) Stratosphere 
 ehlksLQs;j     LVªSVksLQs;j 
  

Q5. The 15th Governor of RBI, Dr Manmohan Singh went on to become the 13th Prime 
Minister of India.  The present RBI Governor is   

vkj ch vkbZ ds xoZuj dkSu gSa 
  

(a) D Subbarao     (b) Raghuram Rajan  
  Mh lqCckjko     j?kqjke jktu 
 

(c) Bimal Jalan     (d) YV Reddy 
 fcey tyku     okbZ oh jsM~Mh 

 
Q6. Rain drops are spherical due to  
 ckfj'k dh cwans xksy D;ksa gksrh gSa 

 
(a) Viscosity of water   (b) Surface tension 

  ikuh dh foLdkslhVh    ljfQl VsUlu 
 

(c) Continuous evaporation  (d) Air friction 
 yxkrkj ok"ihdj.k     gok dh fÝD'ku 
 

Q7.  Soft water can be easily identified by its characteristic of 
lkW¶V ;k ehBs ikuh dks igpkuus dk lcls ljy rjhdk gS 

 
(a) being sweet in taste 

Lokn esa ehBk gksrk gS 
 

(b) being light green in colour 

gYds gjs jax dk gksrk gS 
 

(c) Forms lather with soap 

lkcqu ds lkFk vPNh >kx cukrk gS 
 

(d) Boils faster 

tYnh mckyk tk ldrk gS 

 
Q8. Which of the following is responsible for ‘Acid Rain’? 
 ,flM jsu ;k tgjhyh ckfj'k dk dkj.k D;k gS 
  

(a) Smoke     (b) Nitrogen  
  èkqvk¡      ukbVªkstu 
 

(c) Dust     (d) Sulphur dioxide 
 èkqy      lYQj MkbvkDlkWbM 
 

Q9. The working principle of washing machine is 
 okf'kax e'khu fdl fl)kar ij dke djrh gS 
  

(a) Gravity     (b) Centrifugation  
  xq:Rokd"kZ.k     lsUVªh¶;wxs'ku 
 

 (c) Dialysis     (d) Reverse Osmosis  
  Mk;yfll     mYVk vkWlekWfll 
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Q10. Soil pH of acidic soil can be improved by  
 rstkch tehu dks lgh dSls fd;k tk ldrk gS 

 
(a) Adding Lime     (b) Repeated ploughing  

  pwuk Mkydj     yxkrkj tksrkbZ ls  
  

 (c) Adding urea     (d) Flooding 
  ;wfj;k Mkydj     [ksr dks ikuh ls Hkjdj 
 
Q11. Which is the hottest planet of our solar system  
 lkSj eaMy esa lcls xeZ xzg dkSu lk gS\ 

 
(a) Venus      (b) Pluto  

  'kqØ      IywVks 
  

(c) Mars      (d) Mercury  
 eaxy      cqèk 
 

Q12. The largest Gland in the body is 
 gekjs 'kjhj esa lcls cM+k XySUM dkSu lk gS 
 

(a) Gall Bladder     (b) Liver  
  xkWy CykMj     fyoj 
 

(c) Pancreas     (d) Brain  
  iSufØ;k      efLr"d  

 
Q13. Which of the following is NOT a radioactive material  
 buesa ls dkSu lk èkkrq jsfM;ks ,fDVo ugha gS 

 
(a) Uranium    (b) Radium 

  ;wjsfu;e      jsfM;e 
  

 (c) Plutonium     (d) Sodium      
  IywVksfu;e     lksfM;e 
  
Q14. Light year is a unit of measurement of  
 ykbV f;;j ls D;k ukik tkrk gS  

 
(a) Time      (b) Distance  

  le;      nwjh 
 

 (c) Brightness of a star    (d) Speed of light 
  rkjksa dh ped     çdk'k dh xfr 
  
Q15. One feels heavier in a lift when the lift   
 fy¶V esa fdl le; viuk otu T;knk yxrk gS 

 
(a) Is going down steadily 

  ,d xfr ls uhps tkrs le;  
  

(b) Just begins to go up 
  tc mij tkuk 'kq: gks 
 

 (c) Is moving up steadily 
  ,d xfr ls mij tkrs le; 
  

 (d) Descends freely 
  fcuk :dkoV uhps vkrs le; 
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Q16.  Facebook was founded in the year 2004 by 
  Qslcqd 2004 esa fdlds }kjk 'kq: fd;k x;k 
  

(a) Bill Gates     (b) Mark Zuckerberg 
  fcy xsV~l     ekdZ twdjcxZ 
 

 (c) Steve Jobs     (d) Jan Koum  
  LVho tkWCl     tSu dkSe 
 
Q17. Navroz celebration is associated with  
 uojkst fdlfy, euk;k tkrk gS 

 
(a) Assamese New year    (b) Parsi New year    

  vklkeh u;k lky     ikjlh u;k lky 
  

 (c) Ladakhi New year   (d) Telugu New year  
  yík[kh u;k lky     rsyxw u;k lky  

 
Q18. Birth place of Lord Gautam Buddha is  
 Hkxoku xkSre cq) dk tUe LFkku D;k gS 

 
(a) Lumbini     (b) Sarnath  

  ywfEcuh      lkjukFk 
  

 (c) Bodh Gaya     (d) Vaishali 
  cksèkx;k      oS'kkyh  

 
Q19. The term Exhumation refers to  
 ,Xtwes'ku ls vki D;k le>rs gSa 

 
(a) Spray of insecticide  

  dhVuk'kd dk fNM+dko 
 

 (b) Medically re-examining a body that has been buried 
  nQu fd;s gq, 'kjhj dks esfMdy tk¡p ds fy, fudkyuk 
 

 (c) Anti malaria precautions 
  eysfj;k jksdFkke dh lkoèkkuh 
 

(d) Cleaning of Carbon from car exhaust pipe 
xkfM+;ksa dh ,XtkSLV ikbi dh lQkbZ 

 
Q20. The acid in gastric juice is 
 gekjs isV esa dkSu lk ,flM gksrk gS  
  

(a) Acetic acid     (b) Nitric acid  
  ,flfVd ,flM     ukbfVªd ,flM 
 

 (c) Hydrochloric acid     (d) Sulphuric acid 
  gkbMªksDyksfjd ,flM    lY¶;wfjd ,flM 
 
Q21. Which of the following is NOT caused by a virus  
 buesa ls dkSu lh chekjh dk dkj.k ok;jl ugha gS 

 
(a) AIDS      (b) Arthritis  

  ,sM~l      xfB;k 
 

 (c) Swine flu     (d) Dengue fever  
  Lokbu cq[kkj     Msaxw cq[kkj 
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Q22. Mango and guava plants are best propagated through  
 vke vkSj ve:n dk ikSèkk lcls vPNk dSls rS;kj gksrk gS 

 
(a) Stem cuttings     (b) Layering  

  dye ls      ys;fjax ls 
 

 (c) Grafting     (d) Tissue culture  
  xzk¶Vhax      Vh'kw dYpj 
 

Q23. A rank in the Air Force which is equivalent of the rank of Colonel in the Army is  
 ,;jQkslZ dk oks jSad tks fd lsuk ds duZy ds cjkcj gS 

 
(a) Group Captain    (b) Commandant 

  xzqi dSIVu     dekMkUV 
 

 (c) Admiral     (d) Commodore  
  ,Mfejy      dkseksMksj 
  

Q24. Malala Yousafzai, a Noble laureate was shot by Taliban to silence her fight against 
 ukscy iqjLdkj fotsrk eykyk ;wlQtkbZ dks vius fdl la?k"kZ dh otg ls rkfycku us xksyh ekjh  

 
(a) Right to sing in public    (b) Child labour  

  lkoZtfud txg ij xkuk xkuk   cky etnwjh  
  

 (c) Right to girl education   (d) Child Marriage  
  yM+fd;ksa dh f'k{kk     cky fookg 
  

Q25. The author of world famous Harry Potter series is 
 gSjhikSVj fdrkc ds ys[kd@ysf[kdk dkSu gSa 
  

(a) Arundhati Roy    (b) JK Rowling  
  v:uèkfr jkS;     ts ds jkWfyax 
 

 (c) Taslima Nasrin    (d) Salman Rushdie  
  rlfyek ulfju     lyeku :'knh 
 

Q26. The term Hypoxia refers to  
 gk;ikWfDl;k fcekjh esa D;k gksrk gS  
  

(a) Lack of sleeps    (b) Lack of Oxygen  
  uhan dh deh     vkWDlhtu dk vkHkko 
 

 (c) Injury due to extreme cold   (d) Loss of memory 
  lnhZ dh chekfj;k¡     ;knnk'r dk [kksuk   

 

Q27. Mc Mahon Line demarcates the boundary between  
 eSd ekgksu ykbu fdu ns'kksa dh lhek n'kkZrh gS 
  

(a) India and Pakistan    (b) India and Nepal  
  Hkkjr vkSj ikfdLrku    Hkkjr vkSj usiky 
 

 (c) India and China    (d) India and Bhutan  
  Hkkjr vkSj phu     Hkkjr vkSj HkwVku 
 

Q28. A nuclear reactor is a device to produce nuclear energy with the help of 
 U;wfDy;j fj,DVj ;a= esa mtkZ dSls curh gS  
  

(a) Nuclear fusion    (b) Uncontrolled chain reaction 
   U;wfDy;j ¶;wtu     fcuk dUVªksy dk psu fj,D'ku 
 

 (c) Controlled chain reaction   (d) Graphite as fuel 
  dUVªksy dk psu fj,D'ku    xzsQkbV dk bZaèku  
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Q29. Which one of the following High Courts has the territorial jurisdiction over Andaman 
and Nicobar Island  
 fdl jkT; dk gkbZdksVZ vaMeku&fudksckj dks Hkh ns[krk gS 
  
 (a) Andhra Pradesh    (b) Calcutta (Kolkatta) 
  vkaèkzk izns'k     dydÙkk 
 

 (c) Madras (Chennai)   (d) Odisha  
  eækl ¼psUubZ½     vksfM'kk 
 
Q30. World Bank helps countries with loans for the purpose of  
 oYMZ cSad ns'kksa dks dSls dkeksa ds fy, _.k nsrk gS 

  
(a) Reconstruction and development  

jhdaLVªd'ku vkSj MsoysiesaV 
 

(b) Stimulating private investment  
izkbosV fuos'k dks c<+kok 
 

(c) Tackling foreign exchange crises  
QkWjsu ,Dlpsat Økblst ls cpko 
 

(d) Meeting deficits in government budget         
ljdkjh ctV esa MsfQflV dk è;ku 

 
Q31. Who was the founder of Maurya dynasty  
 ekS;kZ Mk;usfLVh dks fdlus 'kq: fd;k 

  
(a) Chandragupta II   (b) Chandragupta Maurya  

  pUæxqIr AA     pUæxqIr ekS;kZ 
 

(c) Vishnugupta     (d) Ashoka  
  fo".kqxqIr      v'kksd 

 
Q32. Cloudy nights are warmer than clear nights because  
 ckny okyh jkrsaa lkQ jkrksa ls xeZ gksrh gSa 

 
(a) Clouds prevent escape of heat from the ground  

ckny èkjrh dh xehZ jksdrs gSa 
 

(b) Absorb sunlight during the day and radiate the same at night 

fnu esa lwjt dh xehZ tTc djds jkr dks NksM+rs gSa 
 

(c) Clouds make the atmosphere damp and generate heat  

ckny okrkoj.k esa ueh vkSj xehZ nsrs gSa 
 

(d) Clouds obstruct the movement of air which creates heat  

ckny gok dk cgko jksdrs gSa 

 



8 
 
Q33. Rainbow is formed due to a combination of  
 bUæèkuq"k dSls curk gS 
 

(a) Refraction and absorption of light in water droplets 

fdj.kksa dk ikuh dh cwanksa esa fjQjsD'ku vkSj ,CtkSc'ku  
 

(b) Reflection, refraction and dispersion of light in water droplets 

fdj.kksa dk ikuh dh cwanksa esa fjQysD'ku] fjQjsD'ku vkSj fMlij'ku 
 

(c) Refraction and scattering of light in water droplets 

fdj.kksa dk ikuh dh cwanksa esa fjQjsD'ku vkSj fc[kjuk 
 

(d) Dispersion and total internal reflection of light in water droplets 

fdj.kksa dk ikuh dh cwanksa esa fMlij'ku vkSj VksVy baVjuy fjQysD'ku 
 

Q34. What do the airbags, used for safety in cars contain  
 dkjksa ds ,;jcSx esa dkSu lk inkFkZ ;k xSl dk bLrseky gksrk gS 
  

(a) Sodium bicarbonate    (b) Sodium azide 
  lksfM;e ckbdkcksZusV    lksfM;e ,tkbM 
 

 (c) Sodium nitrite     (d) Sodium peroxide  
  lksfM;e ukbVªkbV     lksfM;e ijvkWDlkbM 
 

Q35. With reference to human nutrition consider the following statements  
 bUlkuh [kku&iku ds fo"k; esa fuEufyf[kr esa ls D;k lgh gS 

 
(i) Banana is richer source of carbohydrates than apples  

  dsys esa dkcksZgkbMªsV lsc ls vfèkd gksrh gS 
  

(ii) Banana contains some amount of protein also  
dsys esa dqN izksVhu Hkh gksrk gS 
 

(iii) Spinach has no protein at all  
ikyd esa izksVhu ugha gksrk 
 

(iv) Potatoes are richer sources of protein than peas  
vkyw esa izksVhu eVj ls vfèkd gksrk gS 
 
(a) (i) and (ii)    (b) (ii), (iii) and (iv) 
 
(c) (i), (iii) and (iv)   (d) (i), (ii), (iii) and (iv) 

 
Q36. The yellow colour of urine is due to the presence of  
 bUlkuh is'kkc dk jax ihyk gksus dk dkj.k D;k gS 
  

(a) Bile      (b) Lymph  
  ckbZy      yhEQ 
 

 (c) Cholesterol     (d) Urobilin or Urochrome   
  dksysLVªkWy     ;wjksfcfyu ;k ;wjksØkse 
 
Q37. Which of the following is one of the best solutions to get rid of non-biodegradable 
waste   
 fuEufyf[kr esa ls IykfLVd ds dpjs dks laHkkyus dk lcls vPNk rjhdk D;k gS  
  

(a) Recycling     (b) Burying waste  
  nksckjk bLrseky esa ykuk    tehu esa nckuk 
 

 (c) Burning waste    (d) All of the above  
  tykuk      mij ds lHkh 
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Q38. Zika virus or Zika fever is spread through  
 thdk ok;jl ;k thdk cq[kkj fdl otg ls QSyrk gS 
  

(a) Contaminated water    (b) Mosquito bite 
  çnwf"kr ikuh     ePNj dk dkVuk 
 

 (c) Contaminated food    (d) Chicken and eggs  
  çnwf"kr [kkuk     fpdu vkSj vaMs 

  
Q39. Virat Kohli became the first Indian cricketer to score a century in World Cup against  
 fojkV dksgyh oYMZ di esa lsUpqjh cukus okys igys Hkkjrh; cusA ;s eSp fdl ns'k ds lkFk Fkk 
  

(a) South Africa     (b) Australia  
  lkmFk vÝhdk     vkWLVªsfy;k 
  

 (c) West Indies     (d) Pakistan  
  osLV bafMt     ikfdLrku  

 
Q40. ‘World Cancer Day’ is observed on 
 oYMZ dSalj fnol dc euk;k tkrk gS 

  
(a) 19 February     (b) 4 February  

  19 Qjojh     4 Qjojh  
 

 (c) 12 February     (d) 17 January  
  12 Qjojh     17 tuojh 

   
Q41. Which of the following is a chemical change 
  buesa ls dkSu lk dSfedy cnyko gS 
  

(a) Heating of iron to red hot   (b) Magnetization of iron pieces 
  yksgs dks yky xeZ djuk    yksgs dks pqEcd cukuk 
 

 (c) Rusting of iron    (d) All of above    
  yksgs dks tax yxuk    mij ds lHkh 

 
Q42. Regarding women in the early Vedic period, which of the following are correct  
 'kq:vkrh oSfnd dky dh efgykvksa ds ckjs esa D;k lgh gS 
 

(i) They were allowed to study 
mUgsa i<+kbZ dh vuqefr Fkh 
    

(ii) They held good positions  
os vPNs inksa ij Fkha 
 

(iii) They did not practice Purdah system  
os inkZ ugha djrh Fkha 
 

(iv) They attended Sabha and Samiti  
os lHkk vkSj lfefr;ksa esa Hkkx ysrh Fkha 
 

  (a) (i) and (ii)    (b) (iii) and (iv) 
 
  (c) (ii) and (iii)   (d) All of these 
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Q43. The Rowlatt Act came into being in  
 jksySV ,DV dc cuk Fkk 
 

(a) March 1919  ekpZ 1919 
 
(b) June 1919 twu 1919 
 
(c) March 1918 ekpZ 1918 
 
(d) June 1920 twu 1920 

 
Q44. The religion of early Vedic Aryans was primarily  
 'kq:vkrh oSfnd dky esa vk;Zu yksxksa dk èkeZ D;k Fkk 
  

(a) Bhakti      (b) Image worship and Yajnas  
  HkfDr      ewjr iwtk vkSj ;K 
 

 (c) Worship of nature and Yajnas  (d) Worship of nature and Bhakti  
  çÑfr dh iwtk vkSj ;K    çÑfr dh iwtk vkSj HkfDr 
 
Q45. Gandhiji’s call for breaking Salt Law was in response to the  
 xk¡èkhth ds }kjk ued dkuwu dks rksM+us dk edln D;k Fkk 

  
(a) Non-Cooperation Movement   (b) Civil Disobedience   

  ukWu&dksijs'ku vkUnksyu    flfoy fMlvksfcfM,Ul 
 

 (c) Khilafat Movement    (d) Quit India Movement  
  f[kykQr vkUnksyu    Hkkjr NksM+ks vkUnksyu  

 
Q46. Who was the winner of this year’s French Open Men’s Single title  
 bl lky ds Ýsap vksiu Vsful ds iq#"kksa ds fotsrk dkSu Fks 
  

(a) Novak Jokovic    (b) Andy Murray  
  uksokd tksdksfod     ,aMh ewjs 
 

 (c) M Bryan     (d) F Lopez  
  ,e czk;u      ,Q yksist+ 

 
Q47. MOSSAD is the intelligence agency of  
 ekslkn fdl ns'k dh baVsfytsal ,stsalh gS 
  

(a) Egypt      (b) Israel  
  bftIV      bt+jkby  
    

 (c) USA     (d) Japan 
  vejhdk      tkiku 

  
Q48. Which of the following paramilitary forces was the first force to raise an all-woman 
battalion in India  
 dkSu lh iSjkfefyVªh QkslZ us lcls igys efgyk cVSfy;u dks 'kkfey fd;k   
  

(a) ITBP      (b) BSF 
  vkbZ Vh ch ih     ch ,l ,Q 
 

 (c) CRPF      (d) CISF 
  lh vkj ih ,Q     lh vkbZ ,l ,Q 
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Q49.  The atmosphere becomes thinner with increasing altitude. With no definite boundary 
between the atmosphere and the outer space, Karman Line is often used as a border, with a 
distance of  
 ok;qeaMy esa c<+rh Å¡pkbZ ds lkFk gok dk ncko de gksrk gSA ok;qeaMy vkSj varfj{k ds chp dksbZ fuèkkZfjr 
lhek uk gksus ds dkj.k] dkeZu ykbu dks lhek ekuk tkrk gS ftldh èkjrh ls nwjh   

 
(a) 100 KM from earth    (b) 10 KM from earth 

  èkjrh ls 100 fdyksehVj    èkjrh ls 10 fdyksehVj  
  

(c) 500 KM from earth                             (d)       1000 KM from earth 
  èkjrh ls 500 fdyksehVj    èkjrh ls 1000 fdyksehVj 
 
Q50. Operation Meghdoot is related to  
 vkWijs'ku es?knwr fdl bykds esa yM+k x;k ;k yM+k tk jgk gS 
  

(a) Siachen Glacier    (b) Aksai Chin 
  fl;kphu Xysfl;j     vDlkb phu 
   

 (c) Kutch      (d) None of these 
  dPN      buesa ls dksbZ ugha 
 



12 
 

PART II : ENGLISH 
 

Analyes the contents of the passage and then answer the questions that follow. 
Passage 
 

The artificial ways of inducing sleep are legion,  and are only alike in their 
ineffectuality.  In Lavengro there is an impossible character, a victim of insomnia, who finds 
that a volume of Wordsworth’s poems is the only sure soporific, but that was Borrow’s 
Malice. The famous old plan of counting sheep jumping over a stile has never served a turn. 
I have herded imaginary sheep until they insisted on turning themselves into white bears or 
blue pigs, and I defy any reasonable man to fall asleep while mustering a heard of stupid 
swine. 

 
Q 51. The author points out that 
 

(a) sleep can easily be induced 

(b) the artificial means of inducing sleep are not good 

(c) artificial ways of inducing sleep are ineffective 

(d) artificial ways of inducing sleep are expensive 

 
Q 52.  According to the author the character in Lavengro 
 

(a)   resorts to external aids to get some sleep 

(b)   is an admirer of Wordsworth 

(c)   spends sleepless nights reading  Wordsworth 

(d)   is an avid reader of poetry 

 
Q 53. The author uses “impossible” for the character of Lavengro in the sense of 
  

(a)   funny             (b) unrealistic 

(c)  queer    (d) imaginary 

 
Q 54.  Borrow’s malice is most probably directed at 
  

(a)    sleeplessness  

(b)   the artificial ways of inducing sleep 

(c)   Wordsworth’s poetry 

(d)   poetry in general 

 
Q 55.  In order to cure his insomnia, the writer 
 

(a) does a lot of reading 

(b) vainly tries to concentrate on imaginary situations 

(c) keeps a flock of sheep. 

(d) counts sheep jumping over a stile 
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Choose the word which best expresses nearly the same meaning of the given word 
 

Q 56.  CONNOISSEUR 
  

(a) swindler  (b)  expert   
 
(c) informant          (d) fugitive 

 
Q 57.  INJUNCTION  
 

(a) order                 (b) coincidence 
 
(c)  shot of medicine  (d) meeting point of railway tracks 

 
Q 58.  SARDONIC 
  

(a) carelessly dressed (b) threatening   
 

(c) mocking            (d) flirty    
             

Q 59.  INCISIVE 
  

(a) impressively direct      (b) urgent            (c) kind            (d) doubtful  
 

Q 60. DEBILITATE 
 

(a) attack                       (b) weaken         (c) destroy         (d) kill   
 

Q 61.  SANGUINE 
 

(a) Hopeful                  (b) clever           (c) modest          (d) loyal 
 
Q 62.  PROGNOSIS 
 

(a) Preface                  (b) Forecast       (c) Suffer           (d) Weakness 
 

Q 63.  ONEROUS 
 

(a) Awesome               (b) Burdensome   (c) Difficult         (d) Easy 
 

Q 64.  PERFIDY 
 

(a) Deceit                     (b) Treachery      (c) Conceit            (d) Deceit 
 

Q 65.  INNATE 
 

(a) Inborn                     (b) Unique           (c) Imported         (d) Essential 
 
 

Choose the word which best expresses the opposite meaning of the underlined word 
in the sentences given below 
 
 Q 66. The treaty was ratified by the heads of states 
 

(a)  annulled            (b) set a side        (c) destroyed       (d) unsettled 
  

 
 
 
 



14 
 
Q 67. He stood gazing at the serene expanse of the sea  
 

(a)  ruffled                (b) clear                (c) scenic         (d) tranquil  
 

Q 68. He looked elated on hearing the news 
 

(a)  depressed         (b) exasperated   (c) anxious         (d) jubilant  
 

Q 69. He is suffering from benign tumour 
 

(a)  infectious       (b) malignant        (c) contagious       (d) encapsulated 
 

Q 70. The indignation of the retreating taliban resulted in large scale killings 
 

(a)  orderliness          (b) anger        (c) happiness   (d) displeasure  
 

Fill in the blanks with appropriate words from the option given below 
 
 Q 71. Krishan’s horse is of an excellent  ………….………. 
 

(a)  brood                  (b) breed        (c) stood              (d) steed 
 

 Q 72. Smoking ……………….…. health 
 

(a)  kills                  (b) effects         (c) rejects              (d) affects   
 

Q 73. This is a  …………….………. on his character 
 

(a)  blur                  (b) blot             (c) spot                     (d) slur 
 

Q 74. The Christmas tree ………………. with star and lights 
 

(a)  encased            (b) adorned    (c) endowed              (d) enticed   
  

Q 75. Slaves were freed from ………………. only after they died 
 

(a)  bondage           (b) pilferage     (c) arrangement      (d) agreement   
 

In each of the following sentences find out which part of the sentence has an error 
 
 Q 76. Children often   (a)   /   quarrel on (b) /  petty issues (c) /  no error (d)  

 
Q 77. My mathematics teacher (a)  /  often emphasises on (b)  / the need for a lot of 
practice (c)  / no error    (d)   
 
Q 78. Our laxity in duty    (a) /   increases with our  (b) /  aversion for work (c)   /   no 
error  (d)  
 
Q 79. For nearly half a century he lived in that village, (a)  /  sharing the joys    and  
sorrows of the people there  (b)  / but later he left the village and has not been heard 
of since  (c)  / no error  (d)  
 
Q 80. He was accused for murder (a) /    but the court found him not guilty    (b)  / and 
acquitted  him  (c)  / no error  (d) 
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Choose the best expression amongst multiple choices for a given idiom/proverb 
  

Q 81. A close shave 
 
(a)  A clean shave                      (b) A lucky escape  
(c)   A narrow escape                 (d) A well guarded secret 
 
Q 82. All Agog 
 
(a)  Everybody                            (b) Almighty  
(c)   Restless                              (d) All ready 
 
Q 83.  A snake in the grass 
 
(a)  Unrecognisable danger       (b) Secret enemy  
(c)   Unforeseen happening       (d) Ignorant person 
 
Q 84. To get cold feet 
 
(a)  To run for life                        (b) To be afraid  
(c)   To fall sick                            (d) To become angry 
 
Q 85. Harp on 
 
(a)  To comment                      (b) To criticise   
(c)   To keep on talking             (d) To keep on insulting 
 

In each of the following questions, out of the four alternatives choose the one which 
can be substituted for the given word/sentence  
 
 Q 86. A short amusing story about some real person or event 
 

(a)  Anecdote                      (b) Antidote   
(c)   Tale                              (d) Allegory 
 

 Q 87. Custom of having many wives 
 

(a)  Monogamy                      (b) Bigamy  
(c)  Polygamy                        (d) Matrimony 
 
Q 88. Strong and settled dislike between two persons 
 
(a)  Hatred                            (b) Antipathy  
(c)  Animosity                       (d) Hatred 
 
Q 89. A Song embodying religious and sacred emotions 
 
 (a)  Ballad                             (b) Lyrics  
 (c)  Ode                                (d) Hymn 
 
Q 90. Act of killing one’s wife 
 
 (a)  Avicide                           (b) Uxoricide  
 (c)  Genocide                       (d) Canicide 
 



16 
 

Rearrange following parts of a sentence to form a meaningful sentence  
 

Q 91. A typical Saina Nehwal day  

(P) or even a game of tennis  

(Q) starts off 

(R) on some days 

(S) with an early morning workout 
       (a)  QSPR            (b) QSRP      (c)  RPSQ    (d)  RSQP  
 
Q 92. Work is the one thing  

(P) and without it  

(Q) that is necessary  

(R) to keep the world going  

(S) we all should die 
       (a)  QPSR            (b) RPQS      (c)  QRPS    (d)  SRPQ  
 
Q 93. He searched his office at 1000 am and   

(P) no sooner  

(Q) than there was a huge explosion 

(R) had he got out of the car  

(S) and it went up in flames 
       (a)  PQRS           (b) RPSQ      (c)  RPQS    (d)  PRQS 
 
Q 94. The boy  

(P) with big blue eyes  

(Q) watched him 

(R) and he never said a word  

(S) that had an uncanny cold fire in them 
       (a)  QPSR            (b) PQRS      (c)  PQSR    (d)  QRPS 
 
Q 95. This is a letter  

(P) from a young lady  

(Q) who was lately wounded in a duel 

(R) written in most passionate terms  

(S) wherein she laments the misfortune of a gentleman 
       (a)  PRQS            (b) PRSQ      (c)  RPQS    (d)  RPSQ 

 
For underlined part of sentence choose part of the sentence from given choices, to 
correct or improve it 
 

Q 96. His father won’t be able to leave for Varanasi until they have arrived  
 

(a) until they arrive  

(b) until they will arrive 

(c) until they will have arrived  

(d) No improvement  
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Q 97. What are needed are not large houses but small cottages 
  

(a) were               (b) is                  (c) was                 (d) no improvement  
 

 Q 98. I am sorry, but I don’t believe what you say  
 

(a) I will not believe  

(b) I am not believing 

(c) I will not be believing  

(d) No improvement  

 
Q 99. It is time the six year old is learning  how to read and write 

(a) learnt             (b) has learnt      (c) was learning    (d) no improvement  

 
Q 100. He plays cricket and tennis also 

(a) besides          (b) both              (c) too                  (d) no improvement  
 

 


